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Calculators needed just for the follow

Does sin(45° +30°) = sin 75°?
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What special angles can you use {o make:
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Does sin(45°) + sin(30°) =sin 75°

No
(’Dﬂ‘c‘nt Jus ¥ {20 # J_‘I-S‘\

c0594°cos18°+sin94°sin18°

Gos (G4 -1%) ov Cos(I&-1

CoS (6 ) 6 Co3(-16
T T
tan — -~ tan
. 3
7 Al
}+tan§-mnf ‘an ( ]/LQ3
P 2
117 21T
oy € T
S
7T
12 £ "‘q
. I T,
&lﬁm =
Sln ?) _,_(

\13 \F i z L

—_—

2 &



Key

Sum and Difference Formulas

Part 1: Find the exact value of each expression or angle below

1. sin(135° — 30°)
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Part 2: Write the expression as the sine or cosine of an angle

1. cos25°cos 15° — sin 25°sin 15°
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Part 3: Find the exact value of each angle below
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